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AA{H-1)—Ch (1C) Org.

2015
Time : 3 hours
Full Marks : 50

Candidates are required to give their answers in
their own words as far as practicable.

The figures in the margin-indicate full marks.

| ANSWer five questiops, including Q. No. 1
which is compulsory,

1. ISelect the correct choice of the following :

13-:1['):10

(@) The hybridisaction of the carbon atom in

C-C single bond of HC = C-CH=CH is:
() sp®-sp? o

Wod duHuoOnw] M/ diny

(ii) 5p3 - Sp

Co :
stable ? MPoundsis most ,

() 1-butene
(i) trans-2.pygq,
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(i) i o

ﬁV} 2' ‘F‘khe

?
(1) (CﬁHs}SE
(i) (CHy &
Gii) Gy,
(W) CH? =C H. EH

(i) Trimethyt amine
(iii) fonethyl amine

(iv) Triphenylamine

Wod duHuoOnw] M/ diny

(e) Which among the following is anelectrophile ?

() Co, (i SO,
(iii) F\bz (iv) Allofthese

() Grignard reagents add1o the carbony! group
of Ketones to from:
(i) Primary alcohol

( 2 ] Contd .
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iy Secondary 3/coho
(iii) Tertiary
(iv) None of these
(9) Which of the following is a nucleophile ?
(ijj Carbene
(i) Nitrene
(i) Nitroniumion
*(w) Carbanion

() Cannizzaro reaction will nottake placein:
() Formaldehyde
(i) Benzaldehyde
(iii) Acetaldehyde
(iv) 2, 2.dimethyl propanaldehyde
(i) The reaction Glycero! with conc. H,S0,

Wod duHuoOnw] M/ diny

produces .

(i) Formic acid
(ii) Allylalcohol
(i) Acrolein

{(w) None ofthese
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U o

C ]
N"‘"’CH .
=C~NIis
an Xa : ] H
Mple of CN

I.

i
(u) Nucleophilic addition reaction
(iii) Both (1) and (i)

(V) None of these

Write short notes on any two of the folloving .

$x2 = 10
(a) Hydrogen bond
(b) Hyper conjugations
(c) Inductive effect
(d) Resonance
d 7 Give two

What are organometallic compoun

' n of ether in the
examples. What is the function 0

preparation of a Grignard reagent 7 How does
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: agnesium
| inesize from methyl m
following Y™

bromide ?

(a) sopropy! alcohol

(b) Acetoné

How will you bring aboutthe following changes 7
2x5=10

-

(a) Prnpyléne toAllylAlcohol
(b) Propan-1-olto Propan-2-ol
(¢} Formic acid to Oxalic acid

(d) Ethylamine toAcetone

(e) Acetylene toAcetic acid

5. Explain any five of the following : 2x5=10

(@) The boiling point of ethyl alcohol is higher than
dimethyl ether while both have same
molecular formula.

(b) Trichloro acetic acid is stronger than acetic

acid.
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€ A
Cetalge
ketgnes_

d .
( ) _A_mlme is‘eﬁg
®) 2Butene Smg
e
®  Addition of hy

Propane.

hyy
ha are mare reactive than

bag‘
AN ammonia_

%
lable than ammonia.

r
O Propene yields 2-bromo

(9) Thioalcohol Oxi

diSES mo .
alcohol re readily than

Write notes on any two of the foliowing :
5%x2=10
(a) Pinacoland Pinacsione Rearrangement
(b) Cannizzaro Reaction
(c) Hydroxylation

(d) Birch reduction

How is Urea prepared in the laboratory ? Deduce
the structure of Urea. How does Ureareact with

the following ?
(@) Nitrous acid

(b) Diethy! Malonate
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the meChini of any two of the

o dOWN
8. Write gctions: 2x5=10

(ollowind e

il

C

CHClfalcKoHn =~ ©_©
{a) R.—-NHz . :R_N

_C=CH+H0 _H9504/H50, |
(b)  Alkyne

oH 1
!R—C=CHJ = R-C~CH,
| Kelone

o
© RC=C—H* B o oadaton
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l By /CCly | R-C~C-H
R-C=CH R
Br Br Br

(@) CH,=CH— CH=CH, +HBr ——
CH;—CH‘CH:CHZ + CH‘.}- CH=
|
Br

CH-CH,-CH, - Br (Major)
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9. Whatare thio etherg 5 give tWO met
ues diethy!

preparations Of thio ethers. HOW d
sulphide react with the following 7

(a) Cz H5

10
(b) KMnO,

242x242%2 =

10. (a) Describe the Platini Chloride method for the |

determination of molecular weight of an

organic base.

(b) 4.4 mg of the chloro platinate of mono acid

organic base gave on ignition, 1.375 mg. of
Platinum. Calculate the molecular weight of
the bask. (Pt = 195) 5+6 =10
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